Corr factor = 1.004

Corr Factor = 1.002

| Fitted value of par[1]=Mean

jphaPull_w_phoE_sit04_FarElicing

Entries 8:
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Corr Factor = 1 \z

Mean 2.2¢
RMS 0.5281

_'_

—
ML t

L ——

|

—

Photon Pull Values v. Photon Enenj Y, Coanutf 0.1 Percent
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Mean 0.266
RMS 1.258

I1-5I 1 1 1 2 1 1 | I2-5I 1 | 1 3

Photon enerqy Pull Fits

Mean: 0.032685
Sigma: 1.21893

Mean: 0.0116124
Sigma: 1.19989

Mean: -0.273625
Sigma: 1.19417



Proton momentum pull produced using

run #048326

Add 0.4% to proton mom corrs

Proton Mom Pull Sit04, Conf Cut of 0.001%

sitld_proton_mom_pull

Entries 200740

25000 — Mean -0.006831
- RMS 1.149
20000 —
15000 —
10000 —
5000 :—
u B | - l o] | L1 1 | I — | | I (- - | I (- - | I — | | L1 1 1 :|:|_|_| : T—
s 4 3 2 4 0 1 2 4 5

Using current proton mom corrs
Mean = -0.024 Mean = 0.1758

Assuming a 1.5 GeV
proton, this additional
0.4% correction is
equivalent to a 6 MeV
alteration to the proton's
momentum.



Proton Mom Pull Sit04, Conf Cut of 0.001% | Proton Lambda Pull Sit04, Conf Cut of 0.001% sit04_proton_lambda, Proton Phi Pull Sit04, Conf Cut of 0.001% | Sit04_proton_phi_pull
Entries Entries 310761 Entries 310761
25000 X2/ ndf o] X2/ ndf 249.9/17 25000 X2/ ndf 428.7/17
C Constant 2.379e+04 + 60 Constant 2.444e+04 + 61 Constant 2.428e+04 + 60
3 Mean 0.1696 + 0.0022 Mean -0.03745 £ 0.00202 Mean -0.1447 £ 0.0021
20000 Sigma 0.9969 + 0,0022 Sigma 0.9642 + 0.0020 20000 Sigma 0.9742 + 0,0020

20000

15000

15000 15000
10000~ 10000 10000
5000 = 5000 5000

Pi Plus Mom Pull Sito4, Conf Cut 0f 0.001% __] SIt04 mom _pull Pi Plus Lambda Pull Sito4, Conf Cut of 0.001% _} S04 pip Tlambda_pull Pi Plus Phi Pull Sit04, Conf Cut 0f 0.001% _} SIt04_pip phi_pull
Ei 310761 310761 310761

Entries Entries

25000 = X2 I ndf 461.2/17 PO X2 I ndf 387.7/17 25000 X? I ndf 359.2/17
F Constant 2.403e+04 + 61 Constant 2.445e+04 + 61 Constant 2.374e+04 + 60
F Mean -0.1655 + 0.0021 Mean -0.04911+ 0.00203 Mean -0.3304 £ 0.0022

0.9695 + 0.0021

Sigma 0.9833 £ 0.0021

Sigma Sigma 0.9663 + 0.0020 20000

15000 E_ T E_ 15000
10000 E— 10000 E— Heiy
5000 E 5000 E— 5000

Pi Minus Mom Pull Sit04, Conf Cut of0.001% ] Sit04_pim_mom_pull Pi Minus Lambda Pull Sit04, Conf Cut of 0.001% _} Sit04_pim lambda_pull Pi Minus Phi Pull Sito4, Conf Cutof 0.001% ] Sit04_pim_phi_pull
Entries 310761 Entries 310761 Entries 310761
25000 = X/ ndf 525.3/17 25000 |— X2/ ndf 364.7/17 25000 f— X2/ ndf 370.1/17
o Constant 2.407e+04 £ 61 o Constant 2.424e+04 + 61 Constant 2.38e+04 £ 60
F Mean -0.1929 £ 0.0021 Mean -0.01394 £ 0.00205 Mean -0.3271% 0.0022
e Sigma 0.9656 + 0,0021 e & Sigma 0.9715 + 0,0020 oo Sigma 09798  0,0021
15000 15000 - 15000
10000 10000 - 10000
5000 | 5000~ 5000
ok L. L L L L L L L
% ) 3 2 T g T 2 3 7 4 3 2 T 0 T 2 3 4

Photon Pull Sit04, Conf Cut of sit04_photon pull
Entries 310761
24000 = X2/ ndf 400.8/17
T Constant 2.298e+04 + 59
= Mean -0.01723 £ 0.00220
20000 = Sigma 1,012+ 0.002
18000 =
16000 =
14000 =
12000 =
10000 =
8000 =
6000 =
4000 =
2000 =
L L L 1 L L
) 3 2 T 0 T 2 3 4




Comparison of FSU Pull Means and Sigmas with M. Williams' Pull

Pro Mom
Pro A
Pro ¢
Pip Mom
Pip A

Pip ¢
Pim Mom
Pim A
Pim ¢

Pho E

M. Williams
Mean Sigma
0.040 1.091
-0.018 0.951
-0.073 1.081
-0.033 1.043
-0.020 0.987
-0.101 1.050
-0.030 1.086
-0.008 0.975
-0.076 1.048
-0.020 1.133

Means and Sigmas (taken from his thesis)

C. Hanretty
Mean Sigma
0.1696 0.9969
-0.03745 0.9642
-0.1447 0.9742
-0.1655 0.9695
-0.04911 0.9663
-0.3304 0.9833
-0.1929 0.9656
-0.01394 0.9715
-0.3271 0.9798
-0.01723 1.012
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